
Integration by substitution method:

Question 1: (JEE Main 2015)

Sol: =  t∫  𝑑𝑥

𝑥5 1+ 1

𝑥4( )3/4 ⇒1 + 1

𝑥4

dx = dt⇒ −4

𝑥5

Question 2: (JEE Main 2016)



Sol:

Question 3: (JEE Main 2018)

Sol:



Question 4:  (JEE Main 2019)

Sol :

Question 5: (JEE Main 2019)                             Sol:



Question 6: (JEE Main 2019)

Sol:

Question 7: (JEE Main 2019)



Sol:

Question 8: (JEE Main 2019)

Sol:



Question 9: (JEE Main 2020)

Sol:

Question 10: (JEE Main 2020)



Sol:

Question 11: (JEE Main 2020)

Sol:


